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1% 285305 1E P {3l 2.7
Fik 285409 MP-81 3/t =
1% 285405 1F PRt 2.7
1% 285509 MP-84% 3t =
F#& 2B§50/\ IEF{ERE 3.4
1% 3B500% MP-84F 3T =
Fi% 385005 IEFS il 2.7
1% 35109y MP-81%3 =
1% 3EF10% 1E 4Tk 2.5
F & 385135 MP-4{3f 162.4 u Sv/h - o] 73
Tk 385155 MP-4{t3k 166.2 u Sv/h - i 5.8
Fi% 385110 MP-44t3ft 131.3 ySv/h - _Farad 3.8
& 319D MP-4413R 173.7 uSv/h - ] 2.3
1% 3F20%> MP-84tif 3.2 41 Sv/h - -
1% 3R520%) 1E P4t 5.6 1 Sv/h - 3.2
T3 3215 MP—4433 1459 @5v/h = RGeS 038
& 38523 MP—4{13 1320 pSv/h - 06
ik 385259 MP—4{t3f 129.4 pSv/h = 0.6
ik 3B MP-4{33f 138.3 41 Sv/h - 0.6
i 35290 MP-44138 1015.1_y Sv/h = [l 0.7
1% K305 MP-8{tif 3.2 4t Sv/h - - -
F#% 35302 1EP{tiR 5.5 41 Sv/h 2.5
F & 331D MP-4{13R 569.2 u Sv/h ‘ 0.7
1% 35335 MP=443 4313 pSv/h - B 0.7
ik 3BF355 MP-4{F 3t 2705 u Sv/h - Gk 07
ik 3BF3THY MP—443h 230.8 4 Sv/h = BRER 0.7
ik 38R0 MP-44 3t 204.3 uSv/h - mER 07
Fi% 385400 MP-8{F 3t 3.3 4 Sv/h - - -
1% 3BF407> 1F P94t 8.2 11Sv/h 3.0
ik 35410 MP—4{H3E 174.7_y£Sv/h - Eme | 0.7
% 3E5435) MP—4413 153.3 ySv/h -  EER ; 0.7
Ttk 385459 MP—4433f 150.0 y Sv/h - e 0.7 |
ik 3B5ATSY MP-4{tif 141.8 ¢ Sv/h = R 0.7
% 385495 MP-4{F i 1330 ySv/h - ELid 0.7
F1% 3RE50%) MP-843t 2.2 11Sv/h - - -
ZF1% 3RF50%) 1EPA{ti 5.3 (4 Sv/h 2.6
i 3551 MP-44 3t 132.3 uSv/h 0.7
1% 3BF530 MP-4433 134.7 uSv/h 0.7
5% 38555 MP-4113k 129.1 ¢ Sv/h 0.7
% 3BE51 MP-44F358 129.3 1 Sv/h 0.7
i 3BE595 MP—443f 132.3 4 Sv/h 0.7
1% 4B500% MP-84 3t 2.2 41 Sv/h -
1% 485007 1E P4 5.3 ¢ Sv/h 2.3
Fik 485015 MP-443k 131.4 1 Sv/h 0.7
14 ABF035) MP-41ift 129.5 p Sv/h = 0.6
£ 48505 MP-44Hk 122.2 41 Sv/h - 0.6
Fik ABE0TS MP-4{$3 116.7 4 Sv/h - @m 06|
F ik 4B5095) MP-41if 1138 uSv/h - R | 0.6
Fik AB510D MP-81 3/ 2.2 1 Sv/h - -
F1% 4B5105> PR 36 ySv/h | | _mme 24
LTI —MP—43E 1088 1 Sv/h B 06
P& 485135 MP-44F3f 106.9 u Sv/h - HER 0.6
1% 4B5155 MP-443f 108.2 yt Sv/h EmE 0.6
1% ABF205Y MP-847 3/t 2.2 41 Sv/h - -
1% ABF20%y I P9{i 3.4 41 Sv/h R 2.4
1% ARE30SY MP-81 3/ 2.1 41 Sv/h - -
1% 45305y 1IEP{Ei 3.3 4 Sv/h | 2.2
ik 4RF405 MP-81F 3T 2.1 41Sv/h - -
Fi% 4B5400 IE PS4t 3.3 4 Sv/h |IEETS 2.4
1% 45505 MP-8{tif 3.8 41 Sv/h - -
1% AB550%) IE PR3 3.3 uSv/h |_EEm 1.9
& 5E500% MP-8{Fit 35 uSv/h — =
% 585002 EPYfTiR 3.7 g Sv/h 0.01 ¢ Sv/hKim i 17
ik 5851053 MP-8{ 3k § 5 uSv/h - - =
ik 5BF107 EFIIHE 3 uSv/h 0.01 4 Sv/hKii | 1.8
1% 5FF20% MP-8F3f 4 uSv/h - - -
F & 585200 P45 0 1Sv/h 0.01 4 Sv/hkim B i
‘F& 5530 MP-8F3 2 1tSv/h - - =
585307 EPIfTE 3.0 ySv/h 001 ¢t Sv/hik il Ed 0.8
‘F—ﬁ_@fﬁw MP-84t3i 2.8 (Sv/h — - -
1% 5K540% EP3fTR 29 uSv/h 0.01 4 Sv/hEXith 0 05 |
F ik 5509 MP-8fF3ft 2.7 uSv/h £ - ~
F% 58500 T3 51 4Sv/h 0.01 4 Sv/hikisy r | 056 |
% 5545 MP-443 848 y1Sv/h - JLF 0.7
‘F-ﬁ’ 5565 MP-44138 84.3 i Sv/h - FE 0.6
1% 5BE58%) MP-443 83.8 1t Sv/h - dt 0.6
Fi& 6@0@@ MP—4*¥T;£ 83.2 ySv/h = JLFE 06
% 6B MP-84F3f 2.7 Sv/h - - -
1% 65005 EFfTR 91 gSv/h 0.01 4 Sv/hkim Bl 05
Fig ﬁgaz% MP-443i 80.7 uSv/h - dLdE 0.6 |
Ttk 685045 MP-44tif 735 uSv/h = B[ 06
1% 6BF067) MP-4{ it 79.6 pSv/h = L7 0.6
1% 6BF08% MP-4{tift 78.8 i Sv/h - i) 06
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£k 6R5100 MP-44Fi 785 ySv/h = El%ic] 0.7
¥ 685107 MP-8{tik 2.7 uSv/h - - -
% 685105 MR 3.0 uSv/h 0.01 4 Sv/hEis 0.3
ik 6B512%) MP-44138 78.4 41 Sv/h = ElRc] 0.7
Fi% 685149 MP-443f 77.9 pSv/h = Je#E 08 |
% 6B516 || MP-afhil 773 4 Sv/h - Bl a7
FHROMI187 || MP-affir 76.9 1 Sv/h = L7 0.7
% 685207 MP-44F 38 76.6 4 Sv/h = ElAi] 0.6
% 685200 EFIR 254 4 Sv/h 0.01 4 Sv/hkis i 0.6
1% 68522%) MP-4{t3k 76.2 uSv/h - 3t 0.6
Fik 685245 MP-44F3f 76.2 4 Sv/h = dt | 0.6
ik 685267 MP-4tif 76.6 y Sv/h - 4 5
T 6B528% MP-4{$58 715 4 Sv/h - 3t 05
5% 685305 MP—44138 76.3 4t Sv/h - L7 0.6
1% 685325y MP-4435 739 pSv/h - et 0.6
F1& 685347 MP-4F3f 734 pSv/h - ek 0.6
i 6R536% MP—44F3 73.1 ¢ Sv/h - JitE 0.6
i 6385 MP-44F3f 727 4 Sv/h e 0.6
i 6RF40 MP—44if 3 724 pSv/h = b4k 0.6
T 685425 MP-44138 724 4 Sv/h - L 0.6
% 6B544% MP-4413R 72.1 uSv/h E JLE 0.6
Fik 6B5A6 || MP-Affi 718 pSv/h - JLF 06|
£ 65487 MP-4}38 71.5 pSv/h = dLvE 06
£ 685505 MP—44F3 710 ySv/h = o i) 0.6 |
ik 6B552 MP-4ftif 70.7 ¢ Sv/h P At 0.6
1% 6B554% MP-4{Fif 70.4 ySv/h = B i) 0.6
1% 685567 MP-4{tif 700 ySv/h - B[ 7] _06
1% 65585 MP-4{F3if 705y Sv/h E [ 7] 0.6
ik 785005 MP—4455 721 uSv/h = ] 0.6
7E500% IEF3fFi 31 ¢ Sv/h 0.01 ¢ Sv/hKiH L] 0.5
i 7B5025> MP—44F3i 718 pSv/h - ik | 0.6
F ik 785045 MP-443if 69.9 1 Sv/h - ek 0.5
1% 785065 MP-44 3/ 68.3 i Sv/h = [l 05
ik 185100 EF R 38 4 Sv/h 0.01 1 Sv/hk i 7 0.6
ik 85185 MP-44t3i 68.0 ySv/h - 4k 04
i TE205 MP-4413k 67.7 4 Sv/h = 4t 0.4
1% 185207 iE PR 52 4 Sv/h 0.01 4 Sv/hEm 7 0.6
F& 825 MP-44138 674 pSv/h = i 04
Tk 18524 MP-41t13k 67.2 4 Sv/h = Bl 04
1% TRE255) MP-84tif 80.0 1 Sv/h - - -
ik 78526 MP-4413kE 66.9 4 Sv/h Jedeem 05
1% 1285 MP-44F38 66.3 1 Sv/h - dedb 05
ik 185305 MP-4{ 3 66.0 4 Sv/h = B A 0.5
1% 185309 1E A4tk 2.8 ¢1Sv/h 0.01 ¢ Sv/h&KiE fi] 0.5
5 18325 MP-44t3t 65.7 1 Sv/h = ek 78 05
F i 785345 MP-4{33f 65.3 ¢ Sv/h = ek 05
& 1B536% MP=443 65.3 1 Sv/h - ek 05
Tk 185385 MP-4{t3k 65.0 1 Sv/h = Pl i 04
i 7R5405 MP-4{33f 64.7 41 Sv/h = L& 04
1% 785409 EPIftA 2.7 uSv/h 0.01 4 Sv/hXi& i} =85
Fik 185425 MP-44138 645 1 Sv/h 0.4
1% TRE44SY MP-44t3f 64.2 1 Sv/h 04
1k T4 MP-44358 65.3 4 Sv/h 04
ik TH548%Y MP-4{F 3t 64.7 1 Sv/h 04
% 7H5500 MP-44 3 63.6 1 Sv/h 05
& 18505 MP-8413E 239 pSv/h -
1% TRE500 1E P43 239 1 Sv/h 0.5
F& 185525 MP-4{ iR 63.0 (£ Sv/h 0.5 |
ik TRE549 MP-4F3f 62.7 it Sv/h 05
% TB556%) MP-4413 625 (1 Sv/h - 3 0.5 |
& TEE585 MP-443f 62.2 4 Sv/h ElA 04
1% 8E500%9 MP-4{$3k 622 1 Sv/h ~ ik 0.4
1% 8RF00SY MP-8{tift 10 4 Sv/h - - -
Fi% 8B500% 1E P94 2.7 44 Sv/h Bl 0.4
1% 885025 MP-4{F 3 62.0 1t Sv/h JedesE 0.3
Tk 8B504%> MP-44F3f 61.9 uSv/h = JLE® 3
8B%067 MP-4{33f 61.6 4 Sv/h = JLE 03
1% 85085 MP-4{tift 62.1 ¢ Sv/h deLiLsE 0.3
F1% 8510 MP-44F3k 61.3 i Sv/h - JitE 0.3
1% 8RF10% MP-8{F3i 10 4 Sv/h - - =
1% 8FF10%) 1F P4 3.2 4 Sv/h i 0.3
T 8RE125) MP—44336 61.0 1 Sv/h - T 0.2
ik 8BF145) MP—4{t it 60.6 4 Sv/h - 4t 0.2 ]
1% 8RF16% MP-44F3f 60.3 4 Sv/h - 3t 0.2
i 8RF18%) MP—44F38 60.0 1 Sv/h = Eld] 3
T 85205 MP-44t3E 59.7 4 Sv/h = JEdE 0.3
% 8RF20% MP-84F3T 10 ¢ Sv/h - - -
1% 8R%20%) 1EF9{ti 3.2 1 Sv/h Sv/hEKil | i 0.5
T 8R5225 MP-4{3 3 59.6 y Sv/h = Fileai 0.3
ik 8BE24%y MP-413 59.4 uSv/h 5 R 0.3
1% 8265 MP-44F 3 59.1 4 Sv/h = i 03
1% 8EF285) MP-44F3 59.3 i Sv/h - el 0.3
1% B30 MP-4{t it 60.0 ySv/h = [i] 03]
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& 815300 MP-8tir 3.2 puSv/h = = =
1% 85307} P94t 3.2 4 Sv/h 0.6
Fi% 8B532%y MP—44t3it 59.0 ¢ Sv/h 0.3
1% 8345 MP-44F 3 57.9 ySv/h 0.3
4 8EF365) MP-44F3t 57.8 4 Sv/h 04
1% 8RF38 MP-44}3f 57.5 ySv/h 04
& 8FFA0S MP-41F3f 57.4 1 Sv/h 0.4
F1% 8REF40% MP-81%3 5 1 Sv/h =
& 88542 MP-4f13R 574 ySv/h 04
ik 8EFA4S MP-4{t:8 57.2 uSv/h 04 |
T ik 8E546 MP-443f 57.0 ¢ Sv/h - bk 04
1% 8EF 487y MP-4413f 56.8 4 Sv/h - Jtit#E 0.5
i 85500 MP-4433L 56.5 (Sv/h = i 05
14 8BF50%) MP-8F 3T 6 4 Sv/h = = =
1% 8B552 MP—443E 56.5 4 Sv/h = L7 0.5 |
Fik 8E5545) MP—443f 69.1 ¢ Sv/h - Jedesa 0.4
1% 8BF56%) MP-44138 324.5 ¢ Sv/h = dbdbdE 0.5
1% 8EE585) MP-44138 3574 4t Sv/h = Bl 04
1% 9BE00% MP-4{13 406.9 4 Sv/h = fic 0.5
ﬁHﬁ 9B500%) MP—84: 3/t 80 1 Sv/h - - -
0B502%) MP=44F3 3658 1 Sv/h - FERIPY 06 |
1% 9R504%> MP-44 3 187.3 (4 Sv/h — 7 0.6
1% 985067 MP-4{F3f 149.5 4 Sv/h = [EEIA] 0.6
ZF 1% 9F508% MP-415 1145 uSv/h = ElA] 0.7
Fik 95100 MP 44338 92.2 4 Sv/h = e 0.7
1% 9B10%) MP—84F 3/ 80 1t Sv/h - - -
ik oms12% MP—441 3 86.8 4 Sv/h - Jt#E 0
Fi% 085140 MP-44138 853 ySv/h - Pl 05
Fik OR5165) MP-4{3k 71.0 #Sv/h = Bl 0.5 |
ik 9B518%) MP-44138 745 1 Sv/h - e A 0.4
1% 95205 MP-4{ift 758 pSv/h = LT 0.4
1% 9BF209 MP-81F 3 70 4 Sv/h - - -
Fi% oRF225) MP—44138 69.9 4 Sv/h - BdLdE || 0.3
ik oBF245 MP-4413k 66.1 g Sv/h - ik 0.4
1% oB526%) MP-44f3f 654 1 Sv/h = i) 04
ik OB528%> MP-44t3 64.8 ¢ Sv/h = FEE 04
& 9BE30% MP-44ti 61.6 4 Sv/h = JeFE 04
1% 0RE30%) MP-843f 80 1 Sv/h - - -
1% 9B5325y MP-413 604 4 Sv/h = A 04
ik oBE34SY MP-44F 3 60.4 1 Sv/h = dLvE 0.3
F % 9B536% MP-44 3T 60.3 4 Sv/h = ElAc] 0.3
G 9FF385y MP-44HE 59.2 ytSv/h = b 03
1% 9BF40% MP-44J3 58.1 ySv/h — ElAid 0.3
% 9BF40%) MP-84F 3t 50 4 Sv/h - - -
ik 9425 MP-4ft3f 56.8 4 Sv/h = dLF 04
F1& o 44D MP-44t3f 56.2 ¢ Sv/h = Elic 05
1% 9RE465Y MP-44 3/ 55.9 ySv/h - e i 05
1% oFF48% MP-4433% 55.4 4 Sv/h 0.6
ik 9BF509 MP-4{33 55.1_pSv/h 0.6
Fi& 9&#50% MP-81F 3 70 4 Sv/h -
1% 9BF50%) 1E P94 3.0 4t Sv/h 05
X% 9552 MP-44HE 548 1 Sv/h 06
1% 9BF54 MP-4{tik 545 4 Sv/h 0.6 |
1% 9BE56%> MP-4433 542 ySv/h 07
9pF58% MP-44F3r 54.1 4 Sv/h 0.8
5% 1085009 MP-44358 539 4 Sv/h 0.8
1% 10R500% MP-81F 3T 70 4t Sv/h -
1% 1085005 1E P {tif 3.0 1 Sv/h 0.4
‘Fé‘: 1085025 MP-443f 53.7 4 Sv/h 08
1085045 MP—4{F3 53.5 pSv/h 07
fr—& 1085065 MP-443f 53.3 uSv/h 0.6
F% 1085085 MP-4{tik 532 ySv/h 0.5
% 1085105 MP-4{F3ift 53.1 pSv/h 05
1% 1085109 P94t 21.6 4 Sv/h 0.4
& 108122 MP-4fHf 52.9 ySv/h 0.4
Fi% 1085145 MP-443 52.8 4 Sv/h 04
Fi% 1085165 MP-44138 52.6 pSv/h 0.4
% 1085189 MP-441 3T 524 pSv/h 0.4
Fi% 108520 MP-44Fif 52.2 i Sv/h 04
% 1085205 P9l 29 uSv/h || 00 0.4
Fi& 1085220 MP-4£138 52.1 1 Sv/h 04
% 1085245 MP-44F3k 52.0 4t Sv/h 04
& 1085260 MP-44138 52.0 1 Sv/h 04
ik 1085285 MP-44F3f 51.8 1 Sv/h 0.4
% 1085305 MP-44t 3t 51.5 pSv/h 04
1% 10K530% MP-8{tif 4.9 1 Sv/h -
1% 10K530% 1F P340 2.9 1 Sv/h 0.4
T 1085325 MP-44138 51.4 uSv/h 0.4
% 1085345 MP-41 3t 51.3 ySv/h 04
F1% 108359 MP-81F 3 4.7 4 Sv/h -
: 1085367 MP-44F58 51.3 uSv/h 0.4
1% 1085380 MP-44358 53.3 4 Sv/h 04
F1% 1085405 MP-44¢3f 53.0 ySv/h 04
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